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Laws of Exponents. Let a,b # 1 be positive numbers. If x and y are any real numbers,
then

bx+y — bRy by — Z_z (bx)y = HrY (ab)z = a%b*
Simplify the following expressions.
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Laws of Logarithms. Let a,b # 1 be positive numbers. If x and y are positive numbers,

then
log, (ry) = log,(x) + log,(y) log,(z") = rlog,(z)
z _ log,(x)
log, (2) = log,() — logy (y) log, (*) = 15¢)

Find the given logarithm.
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18. logyy ((w*2)") = (9 [‘Z‘fm(wz%)
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Combine the given expressmn
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22. 2logg(z + 1) + 2logg(z — 1) = /é}f (()GH)?()C“/)L)
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